/* My CSS File */

body

{

background-color: #fff;
color: #454545;
font-size: 120%;

b

nav

{

width: 100%;

height: 75px;
background-color: black;

}

nav ul 11

{

float: left;

padding-top: 25px;
padding-right: 20px;
padding-bottom: 20px;
padding-left: 25px;

ks

nav ul 1i a

{

color: white;
font-size: 18px;
text-decoration: none;
ks

nav ul 1i a:visited

{

color: white;
font-size: 18px;
text-decoration: none;

3

nav ul 1i a:hover
{

color: red;

font-size: 18px;
text-decoration: none;
ks

#imageofclass

{

width: 100%;

height: 450px;

ks

#imageofclass img

{



width: 100%;

height: 100%;

ks

#hometext

{

width: 100%;
margin-bottom: 20px;
ks

#hometext p

{

padding: 10@px;

ks

#homebox1

{

background-color: purple;
width: 25%;
margin-left: 6%;
float: left;

height: 300px;
border-radius: 10px;

}
#homebox?2

{

background-color: blue;
width: 25%;
margin-left: ©%;
margin-right: ©%;
float: left;

height: 300px;
border-radius: 10px;

ks

#homebox3

{

background-color: green;
width: 25%;
margin-right: 6%;
float: left;

height: 300px;
border-radius: 10px;

}
#homebox1 h2

{

font-size: 30px;
text-align: center;
padding: 20px;
color: white;

}



#homebox2 h2

{

font-size: 30px;
text-align: center;
padding: 20px;
color: white;

}
#homebox3 h2

{

font-size: 30px;
text-align: center;
padding: 20px;
color: white;

ks

#homebox1 p

{

color: white;
padding-left: 8px;
padding-right: 8px;
ks

#homebox2 p

{

color: white;
padding-left: 8px;
padding-right: 8px;
ks

#homebox3 p

{

color: white;
padding-left: 8px;
padding-right: 8px;
ks

footer

{

width: 100%;
margin-top: 20px;
margin-bottom: 20px;

clear: both;
ks

footer p

{

text-align: center;

}

.orangetext

{

color: orange;

}






